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X5 R EREGIR| e HTFAHEBIR|  AERRE Gl

H264E4 A | 1,796.87kl 121.390t 119.78t 0.00t|]  2,038.040t

5H| 1,652.98Kkl 18.673t 119.12t 1.59t]  1,792.363t

6H| 1,843.33kl 53.160¢ 105.22t 3.50t]  2,005.210¢

7TH| 1,863.30kl 154.471t 105.05t 6.42t]  2,129.241t

8H| 1,710.17Kkl 157.385t 110.79t 3.52t] 1,981.865t

9H| 1,612.20kl 15.569t 114.28t 0.00t]  1,742.049t

10A| 1,719.02kl 82.010t 96.78t 0.23t|]  1,898.040t

11A| 1,588.71kl 113.150t 96.14t 0.00t|]  1,798.000t

127 1,714.60kl 461.840t 105.83t 0.00t|] 2,282.270t

H274E1 8| 1,470.50k1 297.405t 106.30t 0.00t|] 1,874.205t

2H| 1,634.53Kkl 242.233t 79.52t 0.00t|] 1,956.283t

3H| 1,865.76kl 292.357t 87.12t 0.00t|] 2,245.237t

aF 20,471.97kl|  2,009.643t 1,245.93t 15.26t] 23,742.803t
FHE 86.2% 8.5% 5.2% 0.1% 100%
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FR27%F4H16H

EORR MUK HERAE
KFBAFVIRE 7.3pH(19°C) JIS K0102(2013) 12.1
EMIEERBRRERE Img/1K i JIS K0102(2013) 21K 132.3
IEEMBERERE 4.6mg/1kK i JIS K0102(2013) 17
FEYES Img/1K i BRA46FIRE T HRESISHTRI
JIUASY VI Y E (Shh%E) Img/1K ik JIS K0102(2013) MIEZ1(ZB)wmEL.1
ILIVATHU I Y E (BHAEYH) Img/1K i JIS K0102(2013) BﬁJﬁil(*%)*ﬁEH 2
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ER22F12A EMKEXRENERABIEMIDEHZRETE (£5E915648)
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(1) ApEE=458.8051
SEEAEPESY 6,24148 (93.615t)
HEAEEPESY 365.190 t

(2) FFHE=457.6801
WEEFEF Y 6, 16658 (92.490 t )
B FEFF 4> 365. 190 t

2. E:E3ERDERERMNER

X 4 H244EFE(H24.4~H25.3) | H254FFE(H25.4~H26.3) | H264E(H26.4~H27.3) SEM DGR
A G 26,88248% = 403,230kg| 6,6584%= 99,870kg| 6,2414%=  93,615kg| 39,78148=  596,715ke
JE ELFEAE PE 6614 = 97,450kg 1714F=  548,110kg 239fF=  365,190kg 476f= 1,010,750kg
E F 500,680kg 647,980kg 458,805kg 1,607,465kg
37,9474%= 569,205kg| 10,23848=  153,570kg| 6,166%%=  92,490kg| 54,35148=  815,265kg
FrHL & ELFE66 1= 97,450kg| ELFE171{F=  548,110ke| [EAE2391F=  365,190ke| EFE4764F= 1,010,750kg
= 666,655kg = 701,680kg = 457,680kg = 1,826,015kg




